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Perhaps he will Shecht a young bird — Y 33 VTR NRW

OVERVIEW

The X713 explains the reason we do not marry on N2w XX, is out of concern that
one may accidentally shecht a bird on naw for the naw XX wedding meal. N1BOIN
discusses the two MX072 in the X773,

Some texts read; ‘mw 12 V1MW XnW’, perhaps they will shecht a bird on him (on
naw)’, instead of 7 12 VY X1W; even though Naw is a feminine noun as it is

written, ‘whoever desecrates her (the naw) will surely be put to death’, so how can
the text read 71v 12 VITW° XAW, since 12 is a masculine form (it should have rather said 7w 172) —

mooin replies that the word naw -
= (3 myw) 199NN NAY DIV ¢nv ow) NINDNI 12 NYIYN DI 2951 PWHY M1 I3 »IN

Is also used in the masculine form as it is written, ‘whoever does work in him

(naw)’, and it is also written, ‘he who guards the naw from desecrating him. This
explains the X07°3 of 77 12 VITW°, for N2 may be used in the masculine form.

NN discusses the other Xo7):
= 1139 932 %3V 0 xap) A9NTI DNVPNY 12290 VINYD DTN %3 T97T 9 12 133 13209 9P

And it is also proper for the text to read, 7w 32 V1MW XMW (instead of VY RPW
n1v), for it is customary for people to shecht the tender and young birds (and 12

7Y means a young bird) as it is written, two young doves -
£9919 19 ¥2P 1Y INS 129 NN §IY 1213 ENIIN (Dwr 2,15 97 PUYTPT RNIP P93

And in the first P95 of PwY7SP Noon it states, ‘we derive a young bird from a

young sheep, if by a young sheep where a place was not established, etc.” We
find that they also use the term '12' to designate a young bird or sheep which was commonly used.

SUMMARY

'm0 [RwN].
2 See ‘Thinking it over’ # 1.
32 poo [2apn].
42 pro.
51 mos. See ‘Thinking it over’ # 2.
® Our text there read: 121 VWY, 17217 ¥ap ROW IRY 12 721 IRY 127 122 XONRT MW 127 7817 X9X. The X3 there explains
that we derive the rule that only male 2°175 can make the X177 of the 71, from the fact that only male 2175 can make
the X177 by INX.
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The X073 can be 7y 12 for n2w is masculine (as well), and it can be 7 12, for it is
customary to use a young bird.

THINKING IT OVER
1. Those that are 71v "12' 073 (as opposed to 71 12); why did they choose 7w 12
instead of 7 112, since N2W is feminine as well?

2. mpoIn brings proof from the P05 of 711 "12 that it is customary to refer to a
young bird as a 1111 12 or 77 12 and that people prefer them younger. It would seem
from Moo that the term 71 12 is merely a practical one (that people prefer °12
111°), however in truth the term 7711 32 is a halachic one which limits our choice of
0°17> only to young ones,’ but not to older ones. What therefore is the proof from 12
7 ?!

3. Why was it necessary for Moo to bring two proofs that naw is 251 PWw>?? And
why did n1901n find it necessary to bring two proofs regarding 77w 12?

7 See o107 1 A" I *212 7"7 7 LR X1 "W, Tt is also interesting why n9oIn chose to cite the later 7109 of 13 1w
731 (in 7,77 X7p”) as opposed to the earlier 2109 (in 7°,X Xp™).
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